

Page 1 of 6

Contract ID: 23473 Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023 **District(s):** N4

Call Order: 473 **Project(s):** 0080339

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0001	151006M	1.000	22,000.00000	22,000.00				
PERFOR PAYMEN	MANCE BOND AND T BOND	DOLL						
0003	153011M	480.000	0.80000	384.00				
TRAINEE	S	HOUR						
0004	154003P	(1)	213,000.50000	213,000.50				
MOBILIZA	ATION	LS						
0005	158003M	5,400.000	7.50000	40,500.00				
CAUTION	I FENCE	LF						
0006	158006M	10,700.000	5.75000	61,525.00				
SILT FEN	ICE	LF						



Page 2 of 6

Contract ID: 23473 Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023 District(s): N4

Call Order: 473 **Project(s):** 0080339

Line No / Item ID Item Description			(1) ASPEN LA CONTRAC					
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	SECTION: 0001 ROADWAY			Cat Alt Set:		Cat Alt Member:		
0007	158072M	2.000	750.00000	1,500.00				
OIL ONL TYPE 1	Y EMERGENCY SPI	LL KIT, U						
8000	158084M	120.000	415.00000	49,800.00				
EROSIO/ REMOVA	N CONTROL SEDIM AL	ENT CY						
0009	159003M	100.000	152.00000	15,200.00				
BREAKA	WAY BARRICADE	U						
0010	159006M	200.000	66.00000	13,200.00				
DRUM		U						
0011	159009M	200.000	25.00000	5,000.00				
TRAFFIC	CONE	U						



Page 3 of 6

Contract ID: 23473 Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023 District(s): N4

Call Order: 473 **Project(s):** 0080339

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY	Cat Alt Set		: Set:	Cat Alt Member		
0012	159012M	1,452.000	20.00000	29,040.00				
CONSTR	UCTION SIGNS	SF						
0013	159015M	4.000	910.00000	3,640.00				
CONSTRUCTION IDENTIFICATION U SIGN, 4' X 8'		ATION U						
0014	159027M	4.000	3,940.00000	15,760.00				
ARROW	BOARD, 4' X 8'	U						
0015	159030M	5.000	11,985.00000	59,925.00				
PORTAB SIGN	LE VARIABLE MESS	SAGE U						
0016	159108M	5.000	10,000.00000	50,000.00				
	CONTROL TRUCK CD CRASH CUSHION							



Page 4 of 6

Contract ID: 23473 Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023 District(s): N4

Call Order: 473 **Project(s):** 0080339

Line No / Item ID Item Description		(1) ASPEN LA CONTRACT	NDSCAPING					
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0017	161003P	(1)	17,500.00000	17,500.00				
FINAL C	LEANUP	LS						
0018	801006M	5,000.000	9.00000	45,000.00				
SELECT	IVE THINNING	SY						
0019	801012M	60,423.000	11.50000	694,864.50				
SELECT	IVE CLEARING	SY						
0020	802021M	1,000.000	480.00000	480,000.00				
TREE RE	EMOVAL, OVER 6" TC ER) 12" U						
0021	802024M	158.000	770.00000	121,660.00				
TREE RE	EMOVAL, OVER 12" T ER	O 18" U						



Page 5 of 6

Contract ID: 23473 Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023 District(s): N4

Call Order: 473 **Project(s):** 0080339

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: MTN Vegetation Safety Management Project, Route I-80 - 2023

Line No / Item ID Item Description			(1) ASPEN LA CONTRACT						
Alt Set / Alt Member Quantity and Units		and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N : 0001	ROA	DWAY		Cat Alt Set:		Cat Alt Membe		
0022	802027M	1	135.000	1,395.00000	188,325.00				
TREE RE	MOVAL, OVER 18"	TO 24"	U						
0023	802030M		88.000	2,825.00000	248,600.00				
TREE RE	MOVAL, OVER 24" ER	TO 30"	U						
0024	802033M		18.000	3,825.00000	68,850.00				
TREE RE	MOVAL, OVER 30" ER	TO 36"	U						
0025	802036M		7.000	6,450.00000	45,150.00				
TREE RE	MOVAL, OVER 36" ER		U						

Section Totals: \$2,490,424.00



Page 6 of 6

Contract ID: 23473

Counties: MORRIS, SUSSEX, WARREN

Letting Date: October 05, 2023

District(s): N4

Call Order: 473

Project(s): 0080339

Contract Time: 12/31/24 COMPLETION DATE

Min: Max:

Contract Description: MTN Vegetation Safety Management Project, Route I-80 - 2023

Line No / Item ID Item Description		(1) ASPEN LANDSCAPING CONTRACTING, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 NON-PARTICI		PATING Cat Alt Set:		Set:	Cat A	It Member:	
0002 152015P	1.000	8,500.00000	8,500.00				
POLLUTION LIABILITY INS	SURANCE DOLL						
Section Totals:			\$8,500.00				
Contract Totals			\$2,498,924.00				

() indicates item is bid as Lump Sum

Cost Plus Time Totals



Vendor Ranking Page:

Call Order: 473 Contract ID: 23473 Counties: MORRIS, SUSSEX,

WARREN

Letting Date: October 05, 2023 10:00 AM District(s): N4

Contract Time: 12/31/24 COMPLETION DATE

Contract Description: MTN Vegetation Safety Management Project, Route I-80 - 2023 Project(s): 0080339

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPEN LANDSCAPING CONTRACTING, INC.	\$2,498,924.00	100.00%
	SAMSON CONCRETE & MASONRY, LLC	Irregular	

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.